
ExERCISE :6 CLASS X CHAPTER 1 SETS 

JX and y ave two Sel Such that nx) =1 

n (Y)- 23 and (xUr) 38, fnd (xnY) 

QNo 

e knaso hat' n(xuv). n() m(Y) -n(xAY 
17 + 23- n (xnY) 

Sol 
30 

m(xnv) = 40-38 2 

No xandY ore tuo Sets uch that xuy ha! 18 ele 
elemenls and has 5 elemenl ) hou man X has 8 

elemens cloes xny have 
So xUY- 18 X)8 )- ISs ere 

n(xUy) M[x)+n(Y) -m(xOy) 
18 8+15 - n(xny) 

Now 

n(xay) 3-18 5 
XOY has 5 elemenls 

n a Jn a 340up o 400 ooole 
200 Can speak English Hou may 0 ojla 
peak both hndi and Engish 

50 Can spcak Hidi 
Can 

Sel Let H Set of Ropte ho speak Hindi 

Set o eople who Can speak thglsh 
H 
E 

AT9 m(H)-250 (E), 200 qnd n HUE4o 
NO (HVE) = MH)+m(E) -n{HOE) 

50t200- n( HOE)

mHnE)=450-400 50 
GNO S and T a wo sel Sudh thatS has 21 elemenl, 

Thas 3 elemen and AT has I elemenli heu 
elem enli olse SUT have ma 

We have ncs) = 21, CT) 32, (SnD 



No SUT)- [s) +mCT) -ST 
2432 - 1 = 531 -42. 

Hence SUT has Z2 elemens. 4Hence 
0Ne S xandY 9se two seli such that x has Ao elemen 

XUy has Go elemen ane xoY hs lo elemenls heo ma XUY 
elemen cloes Y have 

x)40, n(xnY) =1o nY) (xUY) 60 

No m(xuv) mx)+nY)-n(xy 
Her 

60 4D +LY) - lo 

(Y) 60-40 41o = 30 

Y has 30 elemenli 
owp of 70 peojle, 37 ika cofj ec s like tea 
Omd eah oersonv lka ot least ome o wo inks . Hou 

ONo 6 

many. ika bolh Coce and tea 

C Set eB kaopte vmho Jike eofee 

ea amel T St of eople aho like tea 
Sol Let 

Bhe qeshon M(CUT) - 1 MC)- 37 M(T)-52 

Nod CUT) = MCc) +m[T) -"{car 
=37+52 -M(COT) 

(caT) 9-7 = 19 

Hence 19 ople like both Co ee and te. 

9No 7in aq o66 eople 40 liko cYickol le uke 
both cicka[ ancl tomis tios many ike tenms ony 

am not ceicleak 7 oo many like temis 

Let C- Set o peope he k csickal 
TSet o Lople nho ke tenmi 

Sol 

ATO M CUT) = 6S Mc)4 CcoT) = lo 

m(COT): mc)+nCT) -n cnT) 65 A0 tmLT)-1o. 



3. 
Number o 2cople who ik bnly temis 

Hence aS people like tennis only and n Mtket 

= T)-n(cOT)= 3S-10= 25 

qnd 35 beople like tennis. 
n Cemmmttee 50 eple <eak brench 

20 Speak Span\sh lo speakboth panish 

No. 

Speak 

Cnc trenh .How man Speak al ltasl one 
these two Languaged 

Speak 

Le F= Set of RLspl sho spak rench 
Set of people ho peak Spanish. 3he es a F) = 50 ns) - 20 nCFOs)= 1o 

Nouo 1(FUS) = nE) +ms)-n\ FO9) 
S0 20 -1o = 60 

Hexe 6o Reopte spak. a loast on o he 

twa anguae 
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